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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered Authentic.
Q.1 (a) Draw schematic diagram and explain working of Thermal Power Station. (7)
(b) With schematic diagram explain working of Nuclear Power Station. (7)
Q2 (3 Classify hydro power station on the basis of head. Explain any one of them. (7)
Also state turbine used n each case.
(b) Draw and explain lubricating system of turbo alternator. (7)
OR
(b) Explain load curve and load duration curve and state information available (7)
from it.
Q3 (a) Derive the equation for calculation of sag for equal level support. (7)
(b) A transmission line has a span of 300 meters between level support. The (7)
conductor have a cross section area of 15mm. Calculate the sag and vertical
sag under following condition.
Wing pressure = 45 Kg/m”>.  Conductor material density = 8900K g/m’.
Breaking stress = 5000 Kg/cm®.  Factor of safety=2.5.
OR
Q3 (a) Define string efficiency. Explain methods for improving string efficiency.  (7)
(b) Explain the effect of system voltage and power factor on transmission (7)
efficiency.
Q4 (a) Draw equivalent circuit and vector diagram for short transmission line and  (7)
derive equation for sending end voltage.
(b) Explain the advantages of Inter Connection. (7)
OR
Q4 (a) List different equipments used in substation and give function of each. (7)
(b) Explain with sketch working of Tirril Voltage regulator. (7)
Q5 (a) Explain the importance and function of LDC. (7
(b) State limitation of HVAC transmission system. (7)
OR
Q5 (a) Explain working of HVDC transmission system with block diagram and list (7)
the equipments used.
(b) Explain the principle of MHD generation. @)
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